Proportionality, Ratios, and Percentages Quiz
Name ________________________________________ Date _________________
Directions: Answer each multiple choice question with the best choice.  You will receive one extra credit point for each time you show work on any problem.  The quiz is worth 20 points.  

1) Which is the following is the lowest reduced form of the ratio of 4:8? 
a) 1:2



b) 
2:4
b) 1:3



d)
2:8
2) Circle the pair of ratios that are equivalent: 
a)

1   =   
3


b)
1
=
2



---
---



---

---



5
15



4

5
c) 

2   =
4     


 d)
3 
= 
1



---
---



---

---


7
16



9

4
d)

3) Which ratio is NOT equivalent to1 to 3?  
a)
2 to 6




b)
3 to 9
c) 5 to 10




d)
10 to 30
4) Which ratio is less than 1:4?
a)
2: 3                                                
b)
1:3
c)   2:8                                                    d)
1:5
5) Fill in the following table: 
	X
	1
	2
	5
	8

	Y
	4
	8
	M
	32


a) m= 12                                                   b)
m= 16
c)
m= 20
                                                d)
m=  10
6) Solve for x in the following proportion: 

2    =    x

  
           ---
---



8
20
a) 40



b) 
16

b) 5



d)
8x
7) Find the missing side length x of the following similar shapes: 
a)
2




b)
3
c) 
6

     


 d)
4
d)

8) Jeremy got 15 out of 20 on the quiz.  Which of the following shows how to get Jeremy’s percentage?  
a)
15 
=
x


b)
20
=
x
     -----
         ------



----
          -----


20
          100



15
          100
c)
15 
=
x


d)
20
=
x
     -----
         ------



----
          -----


20
          50



15
          50
9) A teacher needs 1 bowl of pasta for 3 students.  How many bowls of pasta will the teacher need for 18 students?  
a)
4                                                
b)
6
c)   5                                                       d)
7
10) A dog has 4 legs.  How many legs do 9 dogs have?  
a) 27                                                   
   b)
13
c)
5
                                                d)
 36
